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Choose the correct indirect speech form of the following sentence:
He said, "I am going to the market."

He said that he
was going to

the market.
a) He said that b) He says that he | c) He told that he | d) He said that he
he was is going to the is going to the is going to the
going to the market. market. market. (a)
market.

Identify the finite and non-finite verb in the sentence:

She loves to dance in the rain.

Finite — loves;
Non-finite — to
dance

a) Finite — loves;
Non-finite —
to dance

b)Finite — dance;
Non-finite —
loves

¢) Finite — to
dance; Non-
finite — loves

d) Finite — rain;
Non-finite —
loves

()

Read the assertion and justification and choose the correct option:
Assertion (A): Determiners help specify nouns in terms of quantity,
possession, etc.

Justification (B): 'Much' and 'many' are possessive determiners.

Ais true, but B
1s false.

a) BothAand B | b) Both A and B c) Ais true, but B | d) A is false, but
are true, and are true, but B is false. B is true.
B is the is not the ©
correct correct
explanation explanation of
of A. A.
Match the synonyms and antonyms correctly:
A. Generous 1. Modern »
B. Rapid ii. Kind A- 1, B -iii, C
C. Ancient iii. Fast “LD-w
D. Hostile iv. Friendly
a)A-iii,B-ii, |b)A-iv,B-1i,C-|c)A-i,B-1,C- |d)A-ii, B-iii, C
C-iv,D-i ii, D - iii iv, D -iii -i,D-iv (d)
What type of gas is methane called due to its contribution to global warming? | Greenhouse
a)Greenhouse | b)Poisonous | ¢)Infectious | d)Carcinogenic (a)
Where is the Golden Temple situated? Amritsar
a) Chandigarh | b) Jaipur | ¢) Delhi | d) Amritsar (d)
Choose the correct option from of the following statement(s)
A. Mishmi Hills are in Himachal Pradesh.
B. The largest River Island in the world is in Assam. B,&C
C. Arunachal Pradesh is the land of the rising sun in India.
D. The largest desert in the world is situated in India.
a)B,&C [ b)A&B [c)A,B&D |d)A,B,C,&D | (a)




8 | Which among the following matches are correct?
A. Shipki La 1. Himachal Pradesh . .
B. Niti Pass ii. Uttarakhand g_%’ B-ii, C-ii,
C. Nathula iii. Sikkim v
D. Bomdila iv. Arunachal Pradesh
a)A-ii, B-i, C-iv, | b)A-i, B-ii, C-iii, | ¢)A-iii, B-iv, C-ii, | d)A-iv, B-iii, C-i, )
D-iii D-iv D-i D-ii
9 What kind of disease is “Parkinson” that was recently seen in news? A neurological
disorder
a)A b) A neurological | c) A respiratory d) a genetic
cardiovascul disorder disease disorder (b)
ar disease
10 | Which state launched the Ladki Bahin scheme?
Maharashtra
a) Maharashtra | b) Gujarat | c) Karnataka | d) Tamil Nadu (a)
11 | Which of the country have borders with Afghanistan?
1. Azerbaijan
2. Kyrgyzstan
3. Tajikistan 34&S5
4. Turkmenistan
4. Uzbekistan
2)1,2& 5 [ b) 123 &4 [ ©)34&5 | d)1,234&5 (c)
12 | Type Questions here for assertion and justification
Assertion (A): An apple a day keeps the doctor away Ais true B is
false
Justification(B): Apple is very costly
a) BothA & B b)Ais false Bis | c) Both A & B are | d) A is true B is )
are correct true false false
13 | SAFF U-19 Football Championship won by which country: India
a) Pakistan | b) Bangladesh | c¢) India | d) Nepal (©)
14 | Which of the following is the correct factorization of the expression: x> + 5x + | (x + 2)(x + 3)
6?
aA)(x+2)x+3) |b)(x-2)x+3) ) (x-3)(x-2) d) x+ 1D+ 6)
(a)
15 | Acando a piece of work in 10 days and B in 15 days. Working together, how
many days will they take to finish the work? 6
a) 5 [ b)6 [0)8 [ d) 12 (b)
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Mark the following statements as True or False:

A. 0 is a natural number.

B. Every integer is a rational number. False, True,
C. 2 is an irrational number. True, True
D. 1 is neither prime nor composite.
a) False, True, b) True, True, c) False, False, d) True, False,

True, True False, False True, True False, True @)

17 | Read the assertion and justification and choose the correct option:
A: Assertion: The equation 2x + 3 = 7 has a unique solution. anllssetrue, Bis
B: Justification: Linear equations in one variable have infinite solutions.
a) BothAand B | b) Ais true, B is c) Both A and B d) A is false, B is
are true, and false. are false. true.
B is the
correct ®)
explanation
of A.
18 | The angles of a triangle are in the ratio 2:3:4. What is the measure of the
smallest angle? 40°
a) 20° b) 40° c) 60° d) 80°
(b)
Match the following words with their synonyms in column | and column II: -
column | column Il
1. Rapid a.Sad
2. Joyful b. Quick 1-b, 2-¢,3-d, 4~
3.Ancient c. Happy @
4. Modern d.old
a) 1-b, 2—c, 3-d, | b) 1-c, 2—b, 3-a3,4- | ¢) 1-b, 2—3, 3—¢, 4— | d) 1-a,2—d, 3-b, 4-
a)
4-a d d c
20 | True /False statements: Select the correct and appropriate answer.
Read the following statements related to Time, Speed, and Distance and
identify which are true or false:
Consider the following statements:
1. A bus covers 120 km in 2 hours. Its speed is 60 km/h. Answer

2. If two buses are moving in opposite directions, their relative speed is the
difference of their speeds.
3. A person running at 10 km/h will take 30 minutes to cover 5 km.
4. Speed is inversely proportional to time, for constant distance.
Choose the correct answer from the option given below:




a) Statements 1,
3, and 4 are

b) Statements 1
and 3 are true;

¢) Statements 1,
3, and 4 are

d) Statements 1,
3, and 4 are

d) Statements 1,
3, and 4 are

true; 2 is false 2 and 4 are false; 2 is true true; 2 is false .
true; 2 is false
false
21 When the minorities give up their ancestral customs and adopts the culture of | Assimilation
the majority, it is known as:
a) Assimilation | b) c) Integration d) Socialization (a)
Accommodation
22 The process of social change to which people attribute positive values is Development
known as:
a) Globaliz | b) Urbanization c¢) Development d) Economic (©
ation Growth
23 Which of the following statements is true about liberalization? Both A and B
are correct
A. It involves reduction of government controls and deregulation along
with autonomy for the private investments
B. It refers to contracting some of the activities performed within the
organization to third parties
a. Both A b. Both A c)only Ais d) only B is (a)
and B are and B are current correct
correct incorrect
24* | Choose the right option for the given assertion and justification: Both A and B
are right and B
Assertion (A): All human rights are universal, indivisible, interdependent and | is the correct
interrelated. explanation of
A.
Justification (B): The World Conference on Human Rights in 1993 asserted
the same.
a) BothAand B | b) Ais wrong and | c) A is right and d) Both A and B (a)
are rightand B | B is right B is wrong are right and B is
is the correct the correct
explanation of explanation of A
A.
25 Match the following pairs: A-iii, B-1v, C-1,
D-ii
A. Shifting work to smaller i. Alienation
firms or other countries
B. Jobs that are unregulated ii. Liberalisation
and do not provide job
C. Workers not enjoying their | iii. Outsourcing
work and feeling disconnected
D. Reducing govt. control iv. Informal Sector
over industries
a) A-i, B-ii, C- | b) A-iv, B-i, C-ii, | ¢) A-iii, B-iv, C-i, | d) A-ii, B-iv, C-1, | (¢)

iii, D-iv

D-iii

D-ii

D-iii




26 Which was India’s first state to have digitalized Panchayat ward? Kerala
a) Kerala | b) Maharashtra | c¢) Gujarat | d) Rajasthan (a)
27 Which of the following statement(s) is/are not correct about Attorney General | A and D
of India?
A. The President appoints a person qualified to be judge of High Court,
to be the attorney General of India.
B. He has right of audience in all the Courts of the country.
C. He has right to take part in the proceedings of the Lok Sabha and the
Rajya Sabha.
D. He has fixed tenure.
a) AandB |b)A,Band D | ¢)Cand D | d) A and D (d)
28 Which Article of Constitution of India suggests for the protection from social | Article 46
injustice and all forms of exploitation and promotion of economics and
educational interests of the weaker sections of the people?
a) Article 43 | b) Article 45 | ©) Article 46 | d) Article 47 (c)
29 Match the following pairs: A-ii, B-1, C-1v,
D- iii
A. Chipko Movement i. Medha Patkar
B. Narmada Bachao Andolan | ii. Sundarlal Bahuguna
C. Lokapal Andolan iii. Madhav Gadgil
D. Western Ghat Bachao iv. Anna Hazare
a)A-i, B-ii, C- | b)A-ii, B- 1, C-iv, | c)A-iv, B-iii, C-i, | d)A-iv, B-ii, C-iii, | (b)
iii, D- iv D- iii D-ii D-i
30 The Central Government for prevention of trafficking and Rescue, Ujjawala
Rehabilitation and Reintegration of Victims of Trafficking is: Scheme
a) Ambedkar b) Swadhar c¢) Ujjawala d) Rashtriya (©
HastshilpVikas | Yojana Scheme Scheme Swasthya Bima
Yojana Yojana
31 Which one of the following is not a correctional programme/service? Community
based youth
club
a) Prison b) Anti-beggary c) Special school | d) Community (@)
welfare services | programme for juvenile based youth club
offenders
32 Panchayati Raj Institutions in India have brought about which one of the Formal
following: representation

of the weaker
sections in

village
governance
a) Eradication of | b). Spread of land | c). Formal d). Spread of (©)
untouchability ownership to representation of | education to the
depressed classes | the weaker masses




sections in village
governance

33 Which of the following are not necessarily the consequences of the A and C only
proclamation of the President’s rule in the state? Select correct answer using
the code given below:
A. Dissolution of the State legislative Assembly
B. Removal of the Council of Ministers in the state
C. Dissolution of the local bodies
a) Aand B | b) A and C only c¢) b and C only d)A,Band C (b)
only
34 Choose the right option for the given assertion and justification: Both (A) and
(B) are correct,
Assertion (A): The divorce rate is increasing in metro cities in India due to but (B) is not a
high expectation and poor sensitivity. correct
explanation of
Justification (B): There is greater sensitivity to each other’s needs in rural (A).
areas and the divorce rate in rural areas will remain much lower for a long
time.
a) Both (A)and | b) (B) is correct, | c) (A)is correct, | d)Both (A) and (a)
(B) are correct, | but (A) is wrong. | but (B) is wrong. | (B) are wrong.
but (B) is not a
correct
explanation of
(A).
35 Match the following pairs: A-iii, B-1, CHii,
D-iv
A. Panchayati Raj i. Right to equality
B. The state cannot ii. Right to freedom
discriminate against anyone in
matters of employment
C. We have right to express iii. A third-tier of government
our views
D. Minorities have right to iv. Cultural and educational
preserve their own culture rights
a) A-i, B-ii, C- | b) A-ii, B-iii, C-i, | c) A-iv, B-ii, C-i, | d) A-iii, B-i, C-ii, | (d)
iii, D-iv D-iv D-iii D-iv
36 What is the maximum strength of the Lok Sabha as per the Constitution? 552
a) 542 | b) 543 | ©) 550 | d) 552 (d)
37 Which of the following is/are among the Fundamental Duties of citizens laid | A, B and D
down in the Indian Constitution? Select correct answer using the codes given | only

below:

A. To preserve the rich heritage of our composite culture.
B. To protect the weaker sections from social injustice.
C. To develop the scientific temper and spirit of inquiry




D. To strive towards excellence and in all spheres of individual and
collective activity.

a) Aand B | b)B only ¢)A,Band D d)A,B,CandD | (¢)
only only
38 Which Amendment Act reduced the voting age from 21 to 18? 61%
a) 61% [ b) 731 | ) 42n | d) 86™ (a)
39 Match the following pairs: A-iii, B-1v, C-i,
D-ii
A. Technological 1. Interaction of ideas ,values and
advancement traditions
B. Liberalisation of trade ii. Companies operating in many
countries
C. Cultural exchange iii. Innovation in manufacturing
communication and information.
D. Multinational corporations | iv. The removal of restriction on
trade
a) A-i, B-ii, C- | b) A-iii, B-iv, C-i, | c)A-iv, B-iii, C-ii, | d) A-ii, B-i, C-iii, | (b)
iii, D-iv D-ii D-i D-iv
40 Which among the following has been adopted by the Tendulkar Committee Cost of Living
for measuring Poverty?
a) Welfare b) Cost of Living | c) Inequality and | d) (b)
Measures Growth Mobility/vulnerab
ility analyses
41 The ultimate goal of women'’s self-help group is: Empowerment
a) Saving b) Taking loans c) Getting d) Empowerment | (d)
money revolving fund
42 | Louis Braille Day is being observed on: 5% January
a) 5 January | b) 6% January | ¢) 7" January | d) 8" January (a)
43 Which among the following thinkers have not accepted that the State has an Marx
ethical purpose?
a) Laski b) Gandhi ¢) Aristotle d) Marx (d)
44 What do you mean by the Supply of Goods? Quantity of
goods offered

for sale at a
particular price
per unit of time




a) Stock b) Total stock in c¢) The actual d) Quantity of (d)
available for the warehouse production of the | goods offered for
sale goods sale at a particular
price per unit of
time
45 Juvenile crime can be prevented mainly by: Good parenting
and family
A. Good parenting and family support support
B. Peer pressures
C. Unrestricted freedom by parents
D. Over indulgence by family
a). Good b). Peer Pressures | c¢). Unrestricted d). Over (a)
parenting and freedom by indulgence by
family support parents family
46 Read the following and find the correct answer: A is false, but
B is true.
Assertion (A): Socialization is a lifelong process that continues even in
adulthood.
Justification (B): Individual constantly interacts with new social institutions,
norms and expectations throughout their lives.
a) BothAand B | b) Both A and B c) Ais true, but B | d) Ais false, but | (d)
are true, and B are true, but B is | is false. B is true.
is the correct not the correct
explanation of A | explanation of A
47 Match the following: A-iii, B-iv, C-
ii, D-i
A. Monogamy i. Husband marries sisters of
wife
B. Polyandry ii. Women marrying brother of
husband
C. Fraternal Polyandry iii. One husband one wife
D. Sororal Polygamy iv. One wife and more than
one husband
a) A-iii, B-i, C- | b) A-iii, B-i, C- c) A-iii, B-iv, C- | d) A-iv, B-iii, C- | (c)
ii, D-iv iv, D-ii ii, D-i ii, D-i
48 | Who led the Widow Remediation Movement in India? Ishwar Chandra
Vidyasagar
a)Raja Ram b)Ishwar Chandra | ¢)Swami d)Mahatma
Mohan Roy Vidyasagar Vivekananda Gandhi (b)
49 | The Sati Regulation Act was passed in which year? 1829
2)1829 | b) 1850 | ©)1870 | d)1900 (a)
50 | Which of the following is a renewable energy source? Solar
a)Coal | b)Solar | ¢)Nuclear | d)Gasoline (b)




51

Choose the correct option from the following statement(s):

A. Kabir Das promoted strict adherence to traditional rituals and

beliefs.
B. Kabir Das emphasized the importance of caste-based hierarchy Only D
C. Kabir Das believed that religious identities should be rigidly
preserved
D. Kabir Das's teachings were primarily conveyed through poetry and songs,
often sung by wandering bhajan singers
a) Only A | b)A&B |[0)B&C | d) Only D (d)
52 | Which technique is used to conserve water in agriculture?
Drip irrigation
a)Drip irrigation | b)Flood irrigation | c¢)Sprinkler d)Crop rotation @)
irrigation
53 | Which among the following matches are correct?
A. MGNREGA i. 2009 T
B. The Right to Education Act | ii. 2005 A, B, C-iv,
C. Swachh Bharat Mission | iii. 2018 D-iii
D. Ayushman Bharat Yojana iv. 2014
a) A-ii, B-i, C- | b) A-i, B-ii, C-iv, | ¢) A-iii, B-iv, C-i, | d) A-iv, B-ii, C-i,
iv, D-iii D-iii D-ii D-iii (@
54 | What is the primary goal of green building design? Eneray
efficiency
a)Aesthetic b)Energy c)High d)Large building )
appeal efficiency construction costs | size
55 | Which type of fuel is considered a sustainable alternative to fossil fuels?
Hydrogen
a)Biodiesel b)Ethanol c)Hydrogen d)Compressed
natural gas (©)
56 .What. 1s'the term for the practice of using rainwater for non-potable purposes Rainwater
in buildings? .
harvesting
a) Water b) Rainwater c)Greywater d)Water recycling (b)
conservation | harvesting reuse
57 | Choose the correct option from the following statement(s):
A. Sustainable Development meets the needs of the present without
compromising the ability of future generations to meet their own needs. Only A
B. Sustainable Development focuses only on economic growth.
C. Sustainable Development prioritizes the interests of the elite
D. Sustainable Development meets the needs of the present generations only.
a) Only A | b)A&B |[o)B&C | d) Only D ()
58 | Choose the right option for the given assertion and justification: Both (A) and

(B) are true,
and (B)is a




Assertion (A): A strong corporate social responsibility (CSR) program can correct
improve a company's brand reputation and attract customers. justification of
A
Justification (B): Consumers are increasingly sensitive to ethical issues and
businesses that demonstrate a commitment to social well-being are more
likely to be favored.
a)Both (A) and | b)Both (A) and ¢) (A) is true, but | d) (A) is false, but
(B) are true, and | (B) are true, but (B) is false (R) is true
(B)isacorrect | (B)isnota
AR (a)
justification of | correct
A justification of
A)
59 | Which among the following matches are correct?
A. Assam i. Bandhavgarh National Park e )
B. Gujarat ii. Kaziranga National Park A, B_,l M CA,
C. Madhya Pradesh iii. Jim Corbett National Park D-iii
D. Uttarakhand 1v, Gir National Park
a) A-ii, B-iv, C- | b) A-i, B-ii, C-iv, | ¢) A-ii, B-iii, C-i, | d) A-iii, B-iv, C- @)
i, D-iii D-iii D-iv ii, D-i
60 | What is the benefit of using LED lighting in green buildings? Energy
efficiency
a)Energy b)Long lifespan c)High d)Low upfront
efficiency maintenance cost (a)
61 | Which field of social work focuses on working with older adults?
Gerontology
a) Gerontology b) Child welfare c)Mental health d)Substance @)
abuse
62 | Choose the correct option from the following statement(s):
A. Inclusive Growth benefits only the rich
B. Inclusive Growth benefits all sections of society Only B
C. Inclusive Growth benefits the poor
D. Inclusive Growth benefits only women
a) Only B | b)A&B [0)B&C | d) Only D ()
63 | Choose the right option for the given assertion and justification:

Assertion (A): NGOs play a crucial role in addressing various social issues,

Both (A) and
(B) are true and

often filling gaps where government action is limited. (B) is the
correct

Justification (A): NGOs, being non-profit organizations, operate justification of

independently of government influence, enabling them to address issues with (A)

greater flexibility and focus.

a) Both (A) and | b)Both (A) and ¢)(A) is correct, d)(A) is incorrect,

(B) are true and | (B) are correct, but (B) is but (B) is correct (a)

(B) is the correct | but (B) is not the | incorrect




justification of
(A)

correct
justification of
(A)

64 | Which among the following matches are correct?
ASubhas Chandra Bose i. The Ramakrishna Mission . . .
B. Swami Vivekananda ii. Maghar A_IV’§ o C-i,
C. Kabir Das iii. Porbandar -
D. Mahatma Gandhi iv. The Azad Hind Fauj
a)A-iii, B-iv, C- | b)A-i, B-ii, C-iv, | ¢)A-iv, B-i, C-ii, | d)A-iv, B-i, C-iii, ©
i, D-ii D-iii D-iii D-ii
65 | Which theory emphasizes the importance of understanding the person-in-
environment? Systems theory
a)Systems b)Psychodynamic | c¢)Cognitive- d)Strengths
theory theory behavioral theory | perspective (a)
66 | Which social reformer is associated with the movement for women's ey
S . Savitribai
education in India?
Phule
a) Savitribai b) Pandita c)Tarabai Shinde | d)Kasturba @)
Phule Ramabai Gandhi
67 | Choose the correct option from the following statement(s):
A. Anna Hazare led the Quit India Movement.
B. Dr. B.R. Ambedkar was the chairman of the Drafting Committee of the
Constituent Assembly of India, which was responsible for drafting the Indian B&C
Constitution.
C. Raja Ram Mohan Roy led the Brahmo Samaj movement.
D. The Golden Temple is in Himachal Pradesh.
a)A&B [b)B&C [c)C&D | d) Only D (b)
68 | Choose the right option for the given assertion and justification:

Assertion (A): Sustainable Development is essential for economic growth of

Both (A) and
(B) are true and

(B) is the
the countries. correct
Justification (B): Sustainable development ensures that environment friendly ] ustlflc/itlon of
measures are adopted for carrying out production processes. (A)

a) Both (A) and | b) Both (A) and ¢) (A) is true, but | d) Both (A) and

(B) are true and | (B) are true but (B) is false (B) are false

(B) is the correct | (B) is NOT the

justification of | correct @

(A)

justification of
(A)
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Which among the following matches are correct?

A. Dhondo Keshav Karve i. Lingayatism
B. Jagadguru ii. SNDT Women’s University Adii, B-i, Ciiv,
Basaveshwara Daiii
C. Anna Hazare iii. Women’s Education in
India
D. Savitribai Phule iv. Indian Anti-corruption
Movement
a) A-ii, B-i, C- | b) A-iii, B-iv, C-i, | ¢) A-i, B-ii, C-iv, | d) A-iv, B-iii, C- @)
iv, D-iii D-ii D-iii ii, D-i
70 | What is the term for the process of adopting new cultural practices? o
Diffusion
a)Acculturation | b)Assimilation c)Diffusion d)Enculturation
()
71 | What is the term for the process of social change that occurs through the
adoption of new technologies? Modernization
a) 1\)/rllodemlzat1 b) Globalization c)Urbanization ﬂ)Industrlahzatlo @)
72 | Choose the correct option from the following statement(s):
A. Subhas Chandra Bose is known as the “Father of the Nation”.
B. Subhas Chandra Bose said, “Give me blood, and I shall give you freedom.” B&C
C. Subhas Chandra Bose formed “The Azad Hind Fau;j”.
D. Subhas Chandra Bose is widely known as the “Iron Man of India”
a)A& D | b)B&C | ¢) Only C |d)A&B (b)
73 | Choose the right option for the given assertion and justification: Both (A) and

Assertion (A): Sustainable Development is important for well-being of human

society.

Justification (B): Sustainable Development is a kind of Development that
meets the needs of the present without compromising the ability of future

(B) are true and
(B) is the
correct

justification of

generations to meet their own needs. (A)
a) Both (A) and | b) Both (A) and ¢) (A) is true, but | d) (A) is false, but

(B) are true and | (B) are true but (B) is false (B) is true

(B) is the correct | (B) is NOT the @)

justification of | correct
(A) justification of
A)
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Which among the following matches are correct?

A. All descendants in one line
of a particular person through
a determinate number of
generations

i. Lineage

B. All descendants through
males of a single ancestor

ii. Paternity confidence

C. All descendants through
females of a single ancestor

iii. Patrilineage

D. A man’s confidence in the
paternity of his own children

iv. Matrilineage

A-i, B-iii, C-iv,
D-ii

a)A-i, B-iii, C-
iv, D-ii

D-i

b)A-ii, B-iii, C-iv,

©)A-iii, B-ii, C-i,
D-iii

d)A-iv, B-ii, C-iii,
D-i

()

75

Which of the following is NOT a part of Maslow's hierarchy of needs?

Legal needs

b) Self-
actualization

a) Safety needs

c) Physiological
needs

d) Legal needs

(d)

76

Which of the following is a cognitive disorder?

Dementia

a)Depression

b) Schizophrenia

¢) Dementia

d) Anxiety

(©

77

Read the following statements and mark them True (T) or False (F):

ocaw»

Attitude is a component of personality.
Perception is a biological process.
Motivation can be intrinsic or extrinsic.
Learning is only limited to formal education.

T.ETF

AFT,T,F b TETF

OEET,F

OTETT

(b)

78

Read the assertion and justification and choose the correct option:

A: Assertion — Human beings are products of heredity and environment.
B: Justification — Genetic makeup alone determines behaviour.

A is true, but B
is false.

a) Both A and B
are true, and B
is the correct

explanation of
A.

b) Both A and B
are true, but B is
not the correct
explanation of A.

¢) Ais true, but B
is false.

d) A is false, but
B is true.

(©




79 | Match the following psychological concepts with their descriptions: A-iii, B-iv,C
-1, D—ii
A.Motivation i. Process of acquiring new
knowledge
B. Perception ii. Feeling state
C.Learning iii. Goal-directed behaviour
D.Emotion iv. Interpretation of stimuli
a)A-iii,B-iv, |b)A-iv,B-1,C-|c)A-i,B-1,C- |d)A-ii, B-iii, C (a)
C-i,D-ii ii, D - iii iv, D - iii -i,D-iv
80 | Which of the following is a major cause of deforestation? Agriculture
expansion
a) Afforestation | b) Agriculture | ¢) Reforestation | d) Environmental (b)
expansion laws
81 | Which of the following best explains Erikson’s theory of psychosocial | Identity vs Role
development during adolescence? Confusion
a)Industry vs | b)Trust vs | ¢) Identity vs|d) Intimacy vs (©)
Inferiority Mistrust Role Confusion | Isolation
82 | Read the following statements and mark them True (T) or False (F): TETF
A. Deforestation leads to loss of biodiversity.
B. Rainwater harvesting depletes groundwater.
C. Plastic pollution affects marine life.
D. Solar energy is a non-renewable resource.
ay T, E T, F|b) T, T, T, Fic) T, F F T|d)FETTF (a)
83 | Read the assertion and justification and choose the correct option: Both A and B
are true, and B
Assertion (A) — Environment protection is essential for sustainable | is the correct
development. explanation of
Justification (B) — It ensures balanced resource utilization for present and future A.
needs.
a) BothAand B | b) Both A and B c) Ais true, but B | d) A is false, but (a)
are true, and B are true, but B is | is false. B is true.
is the correct not the correct
explanation of explanation of A.
A.
84 | Match the following environmental concepts with their meanings: A-i,B-iv,C
-1, D - ii

A Biodiversity

i. Development without

compromising future needs

B. Global warming

ii. Species richness in an
ecosystem




C.Sustainable development

iii. Reusable and naturally
replenishing resource

D.Renewable Resources

iv. Rise in Earth’s average

temperature
a)A-iii,B-iv, |b)A-iv,B-i,C-|c)A-i,B-i,C- |d)A-ii,B-iv,C (d)
C-i,D-ii ii, D - iii iv, D - iii -1, D - ii
85 | Which Article of the Indian Constitution guarantees the Right to Equality? Article 14
a) Article 14 b) Article 19 c¢) Article 21 d) Article 32 (a)
86 | Protection of Women from Domestic Violence Act was enacted in the year: 2005
a) 2003 | b)2005 | ¢) 2007 | d) 2009 (b)
87 | Read the following statements and mark them True (T) or False (F): T,T,T,T
A. Child Labour is banned under the Child Labour Act 1986.
B. Juvenile Justice Act deals with adoption procedures.
C. Legal aid is a right under Article 39A.
D. RTI Act allows access to public records.
a)ETTF b)T, T.EF oTT,T,T )TETT (c)
88 | Read the assertion and justification and choose the correct option: Both A and B
are true, and B
Assertion (A) — Legal literacy is important for social workers. is the correct
Justification (B) — It helps them to advocate effectively for rights and explanation of
entitlements. A.
a) BothAand B | b) Both A and B c) Ais true, but B | d) A is false, but (a)
are true, and B are true, but B is | is false. B is true.
is the correct not the correct
explanation of explanation of A.
A.
89 | Match the following legal concepts with their objectives: A-ii,B-iv,C
-iii, D -1
A.RTI Act i. Access to free legal aid
B. Juvenile Justice Act ii. Ensuring transparency in
governance
C.Domestic Violence Act iii. Protection for women from
abuse
D.Legal Services Authority iv. Rehabilitation of children
Act in conflict with law
a)A-iii,,B-ii, |b)A-i,B-iv,C |c)A-i,B-1,C- |d)A-ii, B-iii, C (b)
C-iv,D-i -iii, D -1 iv, D - iii -i,D-iv
90 | Which psychological theory emphasizes the unconscious mind? Psychoanalytic

Theory




a)Behaviorism b)Humanistic c)Psychoanalytic | d)Cognitive (©)
Theory Theory Theory
91 | The Stockholm Conference (1972) is related to: Environmental
protection
a)Glob'al b)Environmental c)Chﬂd 'labour 'd)Leg'al reforms (b)
education . eradication in India
protection
reforms
92 | Read the following statements and choose True (T) or False (F): TETF
A. Erikson proposed eight stages of psychosocial development.
B. The term "environment" includes only natural surroundings.
C. Juvenile Justice Act deals with crimes committed by minors.
D. Environmental pollution has no legal framework in India.
a)ETTF b)T, T.EF oFETF d)TETF (d)
93 | Match the following: A-11,B-1,C-
ii, D—iv
A Maslow i. Operant Conditioning
B. B.E. Skinner ii. Defence Mechanism
C.Freud iii. Hierarchy of Needs
D.Piaget iv. Cognitive Development
a)A-iii,B-i,C |b)A-iv,B-i,C-|c)A-i,B-i,C- |d)A-ii, B-iii, C | (a)
-ii, D—iv it, D - iii iv, D - iii -i,D-iv
94 | Aclient is showing signs of trauma after experiencing domestic violence. Flashbacks and
Which of the following psychological symptoms is MOST likely? emotional
numbness
a)Elevated b)Enhanced c)Flashbacks and | d)Compulsive (©)
energy levels memory and emotional lying
concentration numbness
95 | Which international agreement is specifically aimed at reducing greenhouse Kyoto Protocol
gas emissions?
a)Montreal c)Ramsar d)Cartagena (b)
Protocol b)Kyoto Protocol Convention Protocol
96 | Read the following statements and choose True (T) or False (F): FTTT
A. Cognition refers to emotional response to stimuli.
B. The POSCO Act is related to the protection of children from sexual
offences.
C. Right to Information Act promotes transparency in governance.
D. Deforestation contributes to climate change.
aFETTT b)T, T.EF oFETF d)TETT (a)
97 | Read the assertion and justification and choose the correct option: A'is true, but B

1s false.




Assertion (A): The Right to Information Act promotes transparency in the
functioning of public authorities.

Justification (B): The Act allows citizens to access confidential information
related to national security.

a) BothAand B | b) Both A and B c)Ais true, but B | d) Ais false, but | (c)
are true, and B are true, but B is | is false. B is true.
is the correct not the correct
explanation of explanation of A.
A.
98 | Match the following: A-1,B-1,C-
iv, D -1ii
A.Stress i. Basic drives
B. Motivation ii. Emotional strain
C.1Q iii. Moral reasoning
D. Kohlberg iv. Intelligence measure
a)A-iii,B-ii, |[b)A-iv,B-i,C-|c)A-ii,B-i,C- |d)A-ii,B-iii,C | (c)
C-iv,D-i ii, D - iii iv, D -iii -, D-iv
99 Which of the following is a major objective of the Wildlife Protection Act, Protection of
19727 endangered
species
a)Industrial b)Protection of c)Conservation of | d)Protection of (d)
development tribal rights forests endangered
species
100 | Which law ensures the right to education for children in India? Article 21A
a)Article 45 b)Article 14 c)Article 21A d)Article 51A (©

* Q 24 - Forwarded for Grievance Committee Decision




